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Unless the context otherwise requires (such as where the facts are speci​fi​cally stated to arise in New York), base your answers on general common law principles as generally applied in American common law jurisdictions.  Do not assume the existence of any facts or agreements not set forth in the ques​tions. Unless otherwise specified, assume that: (1) the period of limitations on ejectment is 10 years; and (2) the signed-writing requirement in the statute of frauds applies to “leases of more than one year.”
Except as otherwise specified, all conveyances are to be considered as if made, in each case, by a deed having the effect of a bargain and sale, after the Statute of Uses, but ignoring the effects of obsolete doctrines such as the Rule in Shelley's Case, the Doctrine of Worthier Title and the destructibility of contingent remainders. Ignore the possibility of dower and, for perpetuities purposes, ignore the possibility of posthumous children in gestation.

1 Langdon found a wild hawk with a broken wing. He took it home and nursed it back to health. After he released the hawk, Langdon read in the newspaper that a farmer several miles away had captured a hawk in his henhouse. The hawk is now held by a raptor protection organization, which refuses to give it up. Langdon is sure it is the same hawk as the one he had. He wants to get it and set it free.

a. Under the usual rules for ferae naturae, Langdon would have lost ownership of the hawk once it regained its natural liberty.

b. Under common law rules, Langdon would never have had property rights in the hawk because it was ferae naturae.

c. Both of the above.

d. The farmer (and, derivatively, the raptor protection organization) would now have the better claim to the hawk because it was captured on the farmer’s property.

2 Assume these additional facts apply in the preceding question: When Langdon released the hawk, it did not go away but mostly hung out and roosted around his house. Langdon put out food in the hawk’s open cage and the hawk entered the cage to eat. Then one day the hawk disappeared and Langdon read in the newspaper that a farmer had captured a hawk, which is now held by a raptor protection organization. Langdon wants to get the hawk and set it free. In light of these additional facts:

a. He might well prevail based on ratione soli.

b. He might well prevail based on animus revertendi.

c. He might well prevail based on damnum sine injuria.

d. His cause would still be essentially hopeless.

3 The Whack’n Slice Driving Range offers to buy used golf balls for 50¢ each. This has led several kids in town to scour the local golf courses for lost balls, which they then sell to the driving range. One of these golf courses, the Pegglebourne Resort, is near a residential area and it has long allowed members of the community to walk and jog on its property, both as a courtesy and for good public relations. They object, however, to kids coming on the course to search for and collect golf balls.

a. Pegglebourne should have a better claim to the golf balls than the kids if the latter are trespassing at the time they find the golf balls.

b. The kids could be considered trespassers when they find golf balls on the Pegglebourne course even though Pegglebourne allows members of the community to go on its property for walking and jogging. 

c. Both of the above.

d. Pegglebourne would have a better claim to the golf balls than the kids only if the court does not deem the balls to be abandoned property.

4 Before the Revolution, the Crown (British government) conveyed parcels of land in the colonies that are now the eastern United States. The power to make these conveyances was based on:

a. A grand treaty signed in 1617 by the great powers of Europe (France, Spain, Portugal, England, the Netherlands, etc.) dividing up the New World.

b. Treaties made by the Crown with various tribes of native peoples who had the land before the British came.

c. A doctrine of discovery and conquest.

d. Nothing. The Crown had no legal power to make these grants.

5 Wilber Renfrew, bought land directly from a tribe of Indian people in what is now Illinois. His purchase was made shortly before the Revolution. Later, Renfrew got into a title dispute with a person who purchased the same land from the United States government. Under American common law, Renfrew would be held to have:

a. Superior title, since he was claiming title under the earliest known possessors.

b. Superior title, since he bought first.

c. Inferior title since Indian people were not normally regarded as having the power to convey land titles that were valid under American common law.

d. The primary right as long as he paid fair value to those who sold him the land.

6 Brent Jaffrey owns a large parcel of land in a largely wooded part of the county, far from town. The land was carved out of a much larger tract and, to date, it has not been fenced or marked in any way, except for stakes at the four corners. Without permission, his neighbor has built and occasionally uses a makeshift hunting “tower” in a tree on Jaffrey’s parcel. (Read carefully.)

a. Jaffrey cannot successfully sue the neighbor for trespass unless Jaffrey has possession of the parcel where the tower is located.

b. From these facts, it does not appear that Jaffrey has actual or constructive possession of land where the tower is located.

c. As owner, Jaffrey would be deemed to be in actual possession of the land where the tower is located even if he does not actually occupy it.

d. On these facts, it looks highly likely that Jaffrey’s neighbor is in adverse possession of at least part of Jaffrey’s land.

7 Rebecca Nance has a parcel of land with a view over the  river. An extension or “arm” of her neighbor’s property extends along the riverfront between Nance’s parcel and the river itself. For the past 25 years Nance has treated this riverfront “arm” as her own, mowing the weeds, maintaining a picnic area and, even, building a stone BBQ grill and patio. Now the neighbor plans to sell to a developer, who wants to construct a McMansion on the riverfront arm. This will destroy Nance’s view, and Nance wants to prevent the construction by claiming title by adverse possession,  

a. She would have a good chance of winning based on the fact that she had long enjoyed the view of the river across the arm of land.

b. She would have little or no chance of stopping the development because she did not at any time live on or maintain any real building on the arm of land.

c. No jurisdiction would recognize that Nance acquired a ripened title by adverse possession because she privately knew all along that the arm land was not hers.

d. She would have a good chance of winning if she has continuously used the arm of land as an ordinary owner would, given its location, nature and circumstances.

8 A right of entry arises (choose the best answer):

a. When a disseisor disseises a person holding seisin.

b. When an adverse possessor ousts the owner of a freehold estate.

c. Answers “a” and “b” say essentially the same thing.

d. All of the above.

9 Martin took possession of Greenacre 12 years ago, after receiving a deed from Holly. It now appears that the actual owner was Vormer, not Holly. If Martin has remained in possession since he bought and his possession has met all the criteria for adverse possession, then he will have acquired title:

a. By operation of a statute.

b. By a law-dictated transfer from Vormer.

c. Because Vormer’s inaction resulted in forfeiture to Martin.

d. All of the above.

10 Bernice took a bus from the airport to the city.  As she got on the bus, the driver took her luggage and put it, with all the other luggage, in a bin underneath the passenger compartment. At several stops in the city, people got off the bus and their luggage was unloaded by the driver. At Bernice’s stop, she pointed out her bags, but one of them did not have her luggage tag on it. As it turned out it was not her bag, but a nearly identical one belonging to someone else. The person who took her bag may be impossible to trace. Bernice was distressed because all her class notes from Con Law were in the missing bag.

a. A bailee is not an insurer of the bailed goods, and the bus company would normally not be liable unless it was negligent.    

b. It looks like in all probability the bus company could be held be absolutely liable for misdelivery.

c. There is no logical way to say that the  bus company was a bailee of the Con Law notes since it did not know they were in Bernice’s bag.

d. The best way for Bernice to get back her Con Law notes would be to sue the bus company in trover.

11 Quincy bought a lot in a subdivision development that had been carved out of desert in a distant state. He intended to use the property for retirement, and he never traveled to see it or to check what might be going on there. Two years after his purchase, due to a recordkeeping snafu, the developer sold the exact same lot to Jarvis, who (like Quincy) paid full value. (Nobody properly recorded any deed so, under local law, the recording acts have no effect and can be ignored in this question.)

a. At the time of the conveyance to Jarvis, the developer had no title to convey. Therefore, Jarvis received no ownership under his deed.

b. If Jarvis took actual possession of the lot immediately after buying it, built a house on the property and lived there, he would eventually acquire a title by adverse possession. 

c. Both of the above.

d. The conveyance to Jarvis was from the outset a violation of Quincy’s rights since its effect was to deprive Quincy of ownership.

12 When Velma’s hard drive crashed, she took her laptop to Ray’s Tech Shop and left it for repair. During the night, a drug addict broke into the shop and stole Velma’s laptop. 

a. If the thief is found, the law would allow Ray to recover the value of the laptop from the thief. 

b. If the thief is not found and Velma sues Ray for the value of the laptop, there would be a rebuttable presumption that Ray was negligent in protecting the laptop from loss.

c. Leaving the laptop at Ray’s would not be considered a gratuitous bailment, but one for reciprocal benefit.

d. All of the above.

13 Shopping in a large chain pharmacy at 3:00 pm Deaton found an Ipod propped up on a shelf of the magazine stand. He took it to the manager’s office. At the manager’s suggestion, Deaton left the Ipod “in case the owner comes back.” The next week he was again in the store and stopped by the manager’s office. To Deaton’s surprise, the manager was listening to the Ipod. When Deaton said he wanted the Ipod, the manager refused. The jurisdiction does not make a distinction between lost and mislaid property:

a. If Deaton was entitled to the Ipod as the finder, then the manager was a bailee of the Ipod.

b. If the local jurisdiction follows the so-called English rule on lost property, Deaton should be entitled to the Ipod as the finder.

c. If the local jurisdiction follows the so-called American rule on lost property, Deaton should be entitled to the Ipod as the finder.

d. All of the above.

14 Same facts as in the previous question, except assume also that the jurisdiction applies the distinction between lost and mislaid property. A surveillance camera in the store shows that an earlier patron had removed the Ipod from her pocket and propped it up on the shelf in the magazine stand:

a. A court would probably still conclude that Deaton, as finder, has the better right to possess the Ipod.

b. A court would probably conclude that the pharmacy, as owner of the locus in quo, has the better right to possess the Ipod.

c. A court or jury would have no logical basis whatsoever for deciding, on these facts, whether the Ipod was lost or mislaid.

d. A court would likely prefer the owner of the locus in quo if it decided that the Ipod was lost rather than mislaid.

15 Every day McGuinn takes the first bus of the morning to work. Last week he was the first passenger on the bus after it left the bus company garage, where it was kept overnight. When McGuinn sat down, he noticed a Mont Blanc pen wedged between the seat and the wall panel. He showed the pen to the driver, who took it to the company’s lost and found, but nobody ever came to claim it. Ignoring the distinction between lost and mislaid property:

a. If the local jurisdiction follows the so-called English rule on lost property, then McGuinn should be entitled to the pen as the finder.

b. If the local jurisdiction follows the so-called American rule on lost property, then McGuinn should be entitled to the pen as the finder.

c. Both of the above.

d. None of the above. The bus company should be entitled to the pen because the pen was found on its bus.

16 Wilma Enwright bought a two-acre parcel of land. She intended to build two houses, one for herself and one for her mentally disabled daughter, who sometimes needs help. At the time Enwright bought, the local zoning required one acre per dwelling unit as the minimum lot size. By the time she saved enough to start construction, however, the town had amended the zoning law. It now requires a two-acre minimum per dwelling unit. As a result, the value of Enwright’s property is now about half what she paid for it, and she cannot build her two houses as planned. Nor can she sell the land for enough money to buy two adjacent building lots elsewhere in town. 

a. The amendment to the zoning law probably effectuated a taking of Enwright’s property and she is entitled to just compensation.

b. If Enwright had lost all use of a portion of her property, she would probably be entitled to compensation for a “taking” of that portion.

c. As long as there is no physical intrusion, action by the town government could not constitute a taking of Enwright’s property.

d. On these facts the rezoning does not appear to constitute a compensible taking of any part of Enwright’s property.

17  Steiner decided to install a new sanitary sewer connector from his house to the main. Although his address is on Hill Street, the city main that is closest to his house is under adjacent Randolph Street, and the route for the new connector would cut across a corner of his neighbor’s property. Steiner asked his neighbor if he could run the line across the corner and the neighbor replied “Sure, for $8000.” This seemed like way too much money and, while his neighbor was hospitalized last spring, Steiner quickly had the underground line installed. When the neighbor got home he didn’t even notice the small line of raw earth and, soon, the weeds covered it all over again.

a. There seems to be no problem here since a court would allow Steiner to run his connector via the more convenient route, even over the neighbor’s objection, as long as there was no real harm to the neighbor.

b. Harm or no harm, the neighbor can have the sewer connector removed and make Steiner pay for the removal, plus any other provable damages.

c. Since the connector is underground, it really doesn’t impinge on the neighbor’s rights as long as the neighbor is only using the surface of his property and doesn’t need the underground space in the particular location.

d. Even if the neighbor does nothing about the connector except to object, he could not run the risk of encumbering his land with an easement by prescription.

18  Harwood had a small farmstead that had been in his family for several generations. There was a well on the property, which Harwood used for domestic needs and to water his stock. Three years ago, an industrial grower bought up a large acreage in the immediate vicinity and planted ethanol crops. During the past two dry summers the industrial grower irrigated these crops with water taken from deep wells that it drilled on its own property. The water yield of Harwood’s well has, at the same time, gone steadily down, and threatens to disappear entirely.

a. The underground water in the vicinity is presumptively percolating.

b. Under the so-called English rule, the industrial grower would be permitted to take as much water as it needed for watering crops, irrespective of the negative effects it might have on Harwood.

c. Under the so-called American rule, the industrial grower would be limited to reasonable use, but taking water for crops would almost certainly be considered a reasonable use, despite the negative effects on Harwood.

d. All of the above.

19 Ridley and Timberlake took a boat trip down the Rocky River, which passes for several miles through land belonging to Levellum Logging Co. The river is generally passable during most of the year except in 3 places where the two boaters had to pull out and drag around obstacles. The logging company objected to the trip, and sued the two for trespass after they completed their trip. 

a. Ridley and Timberlake should be liable for trespass under the principles applied in Jacque v. Steenberg Homes (mobile-home delivery case). 

b. Under the navigation easement, such as exists in New York, the state owns the fee simple in the streams and waterways that are navigable in fact.

c. Ridley and Timberlake may not be trespassers while floating down the stream, but they became trespassers when they had to pull their boats out to drag them around the obstacles.

d. On these facts the logging company would probably not prevail in trespass.

20 Wilkes went to fish from a small stream on an abandoned farm (i.e., owned but not in use) near his home. He caught six fish. The owner of the abandoned farm found out and demanded that Wilkes pay the value of the fish. 

a. Wilkes should not be liable to pay as long as he had a state fishing license at the  time he fished in the stream.

b. The doctrine of ratione soli would seem to mean that Wilkes is liable to pay unless Wilkes can come up with some special circumstance that protects him from liability.

c. Since the farm is out in the country, Wilkes would be protected because the law recognizes that it is customary for people to fish anywhere they want as long as the owner has not expressed the contrary.

d. Wilkes could not be considered a trespasser since the farm was abandoned and not in anybody’s actual possession.

21 Cartwright makes money on the side by capturing live rattlesnakes and selling them to people who use them in religious rituals. Last week he caught five snakes and placed them in a cage in his basement. When he went downstairs the next morning there were only four snakes in the cage. As he was pondering what happened, he heard his neighbor, Mrs. Gooding, start screaming like all get-out” There’s a snake in my garage!” Cartwright arrived just as Mr. Gooding was in the process of scooping the snake into a box. Mr. Gooding says he wants the $200 that the religious group normally pays Cartwright for each snake it buys. Pick the best answer.

a. Cartwright is probably entitled to the snake (if it’s the same snake) because he was the first captor.

b. Mr. Gooding is probably entitled to the snake (even if it’s the same snake) because it was recaptured on his property.

c. Mr. Gooding is probably entitled to the snake (even if it’s the same snake) because, when it escaped from Cartwright’s possession, it again became unowned and, hence, “fair game.”

d. Cartwright is probably entitled to the snake because, for him, catching snakes is a trade or business.

22 Debbie Harper entered into adverse possession of Greenacre in 1982. In 1989 she died leaving a will that devised “all my real property to Jennette.” When the will was probated, Jennette promptly took possession of Greenacre acting, as Harper had before her, like a true owner. Recently Dolmyte bought the land from a person who’d bought from it Jennette in around the year 2000. The title acquired by Dolmyte:

a. Would be one that originally ripened in Jennette in 1999.

b. Would be one that originally ripened in Jennette in 1992.

c. Would be void unless either Jennette herself or the person she sold to had personally fulfilled at least 10 years of continuous occupancy.

d. Would be good against the whole world except the “true owner,” that is, the person Harper “ousted” by taking possession in 1982.

23 Morehouse took adverse possession of Blackacre and acquired a ripened title in 2005. A short time later, the original “true owner” returned. 

a. Morehouse could rightfully demand and expect to receive a deed to the property, since the title of the former true owner would be now considered as transferred to Morehouse

.

b. Morehouse could rectify the wrong to the former true owner by promptly vacating the land and renouncing all claim to it. 

c. Morehouse would probably not be able to sell the land at the normal fair market value unless he first successfully brought an action to quiet title. 

d. Morehouse had better stay close to the land because, if the true owner manages to get himself into possession, the results of Morehouse’s adverse possession would be cancelled. 

24 Griggs bought a parcel of land bordered by state forest land and by a parcel that Webber leased from the state. Although Griggs had other ways of getting to the cabin on his land, the most convenient route was to use a paved driveway that Webber had built from the main highway. Griggs made almost daily adverse use of the driveway on the Webber parcel for nearly 12 years. Then, last year, the state sold a Webber a fee simple title to the leased parcel. Now Webber would like to sell his parcel but he fears that potential buyers will be put off by the fact that Griggs is regularly using the paved driveway. Webber can probably stop Griggs from using the driveway:

a. If they are in a state where adverse possession or use does not cause rights to ripen against the state. 

b. Because the statute of limitations on ejectment always starts over when the land passes to a different owner.

c. Because Griggs is basically just a trespasser, and trespassers create a new cause of action with every new trespass.

d. All of the above.

25 Arrowright entered into adverse possession against Ross in 1989. During the period of adverse possession, Ross died. Junior was his sole heir. Assuming the state has a statute of limitations similar to the one we studied in class, with a 21 year basic period and a 10 year disability period:

a. If Ross was insane in 1989 and died in 1992, when Junior was age 22, title would have ripened in Arrowright in 2002.

b. If Ross was insane in 1989 and died in 2006, when Junior was age 22, title would ripen in Arrowright in 2016.

c. If Ross was insane in 1989 and died in 2004, when Junior was age 17, title would have ripened in Arrowright in 2015.

d. If Ross became insane in 1990 and died in 2006, when Junior was age 22, title would have ripened in Arrowright in 2016.

26 When Thurber built a new garage in 1998, he used a shortcut across his neighbor’s lot to get to the back of his own lot. This use was unpermitted and continuous for seven years, until Thurber sold his property to Neuff in 2005. The deed from Thurber to Neuff made no mention of the shortcut, but Neuff has also made unpermitted and continuous use of it, just as Thurber had. The neighbor now wants to block the shortcut.

a. The neighbor can block the shortcut because neither Thurber nor Neuff made use of the shortcut for the full 10-year prescriptive period.

b. The neighbor can block the shortcut because the deed from Thurber to Neuff made no mention of the shortcut.

c. The neighbor probably cannot block the shortcut because it looks like, on these facts, an easement by prescription arose based on the use by Thurber and Neuff.

d. The neighbor probably can block the shortcut because he never at any point objected to use of his property by Thurber or Neuff.

27 Eve Evans bought a parcel of lakeside land but she went into possession of a different parcel in the mistaken belief it was the one she’d bought. In fact, her land was 100 feet to the west. At any rate, she built a small cabin and lived there for several years. In connection with a water project, a land developer constructed berms that raised the level of the lake and flooded out the site of Evans’ cabin. The permanent damage to the land and cabin occupied by Evans is about $100,000. A licensed appraiser rates its loss of use value (fair rental value) at about $7000 per year.

a. In most states Evans would not be allowed to recover anything, since she is not the owner of the land in question.

b. In states applying the Winkfield rule to land, Evans should be able to recover $100,000.

c. In states applying the Winkfield rule to land, Evans should be only be able to recover $7000 per year for the time that the flooding has already been in place.

d. In states applying the Winkfield rule to land, Evans should be not be able to recover anything, since she is only an adverse possessor.

28 Irene’s grandmother pointed to some silver candlesticks and said: “These have been in the family since the Civil War and when I die they will be yours.”

a. The grandmother has made a valid testamentary gift.

b. The grandmother has made a valid inter vivos gift.

c. The gift cannot yet be complete because Irene has not expressed acceptance.

d. The gift cannot yet be complete because the donor has not expressed in praesenti donative intent.

29 After college, George moved back in with his parents, His high-school age sister was also still living at home. One day at the dinner table, George said: “Sis, since you like my Hed Kandi CD so much, you can have it.” The gift would be complete:

a. Without need of anything further since the donor and donee live in the same household.

b. If the CD were already in the donee’s possession, in her room.

c. Only if George actually physically handed the CD to his sister,

d. Only after the sister expressed acceptance and gratitude.

30 Webb and Cutter were long time friends. A couple of years before his death, Webb gave Cutter a deed to his house, but retained a right to possess the house for life. He also told Cutter: “You can have all the furniture in the house.” When Webb died, however, his estate claimed the furniture.

a. The delivery of the deed to the house cannot, under the law of gifts, logically be treated as a “delivery” of the furniture.

b. Even if Cutter took possession of the house immediately upon Webb’s death, it would be too late for such possession to be considered a “delivery” of the furniture.

c. It might be easier for Cutter to assert that there was a delivery of the furniture if he was living together with Webb in the house, though it would still count against him that he and Webb were not related.

d. All of the above.

31 Argyle, on his deathbed, took off his ruby ring and handed to Fitton, saying: “Here, I won’t be needing this anymore. You take it.” Fitton said thank you and left wearing the ring.

a. The gift would be presumptively revocable.

b. The gift would be presumptively causa mortis.

c. Both of the above.

d. Because Argyle was on his deathbed, the gift could not have been an “inter vivos” gift.

32 About to go into the hospital for a serious and risky operation. Jabba handed his war medals to his grandson, Edmark and said: ”Eddy, I want you to have these.” In light of the purpose of gifts causa mortis, the gift should be considered revoked if:

a. Jabba was in an auto accident while driving to the hospital and was killed instantly.

b. Jabba survived the operation and went home.

c. Both of the above.

d. None of the above. The gift would not be revocable once completed.

33 Again about to go into the hospital for a serious and risky operation. Jabba handed a check for $25,000 to his grandson Edmark and said: ”Here, Eddy. Spend it wisely.” Unfortunately, :Jabba died on the operating table.

a. The general rule is that the gift would be complete even if Edmark did not cash the check until after Jabba died. 

b. Some courts would hold that the gift was complete even if Edmark did not cash the check until after Jabba died.

c. No court would likely hold that the gift was complete unless Edmark cashed the check before Jabba died.

d. If the check was delivered with donative intent, it doesn’t matter whether the check was cashed before or after the donor’s death.

34 While over at Leslie’s house, Janine saw a book on the end table and opened it. Leslie said “If you want it you can have it.” Janine replied, “Oh thank you. That’s very nice of you.” Leslie said, “I just have a few more pages to read.” And Janine said: “Fine, I’ll pick it up next week.”

a. It looks like the donor has become the bailee of the donee.

b. There could be no completed gift under these facts.

c. There is nothing in these facts that could constitute a delivery.

d. By holding possession of the book overnight, the donor would have “undone” any gift that might have occurred based on the parties’ actions and words.

35 O conveyed “to A for life and, six months after A’s death to B and her heirs if B has then reached age 16.” Both A and B were alive at the time of conveyance. Under the traditional rule against perpetuities:

a. B’s future interest is void.

b. B’s future interest is valid only if B reaches age 16 after A’s death.

c. B’s future interest is valid with A as the measuring life.

d. B’s future interest is void with B as the measuring life. 

36 O conveyed “to A for life, remainder to A’s first child to reach age _(see below)_ and her heirs.” A is alive but childless at the time of conveyance. Under the traditional rule against perpetuities, the future interest:

a. Is valid if the stipulated age is 18.

b. Is valid if the stipulated age is 25.

c. Both of the above.

d. None of the above. The future interest is void.

37 Modern courts have endeavored to avoid the “remorseless” application of the rule against perpetuities in several ways. Which of the following is not among them:

a. The “wait and see” rule. 

b. Savings clauses.

c. The “done and finished’ rule.

d. Abolition of the “all or nothing” rule for class gifts.

38 Blankenship Corp. was induced to set up a factory in Crummville by an offer of free land under a complex arrangement. The city leased part of the needed land to the company. It also retained part of the land but allowed Blankenship to use it. Also, Blankenship had an option agreement allowing it to buy all of the land on any of several dates during a 24-year period. One of Blankenship’s competitors recently made an enticing offer to the city, which now wants to terminate Blankenship’s lease and somehow get rid of the option.  The rule against perpetuities:

a. Could not supply a basis for the city to get rid of the option because courts do not apply the rule to commercial transactions.

b. Might, at least in some states, allow the city to get the option declared void.

c. Would not likely have an adverse effect on the option because the option’s maximum duration is only 24 years.

d. Would not likely have an adverse effect on the option because courts do not allow the rule against perpetuities to be used as a backdoor way to confiscate private property.

39 Coe and Turley made an oral lease and Turley, as tenant, entered into possession of the premises. Coe now want to remove Turley. Can Coe can remove Turley before the end of the agreed term of the lease?

a. Yes, if the agreed term was one year.

b. Yes. if the agreed term was six months.

c. Yes. if the agreed term was sixteen months.

d. All of the above.

40 In the preceding question, 

a. The reason there was a landlord-tenant relation is because there was a demise.

b. There was a landlord-tenant relation despite the fact that there was apparently no demise.

c. Turley became a tenant because there was a devise.

d. There would have been a landlord-tenant relation only if the parties had actually intended to create a tenancy at will.

41 Yerkes has a three-year term of years and is nearing the end of the third year. He’s wondering if the landlord will let him stay. The amount of notice that the landlord must give in order for Yerkes’ tenancy to terminate at the end of the term of years is:

a. 30 days.

b. One month.

c. Six months.

d. None of the above. No advance notice is required.

42 Carstad leases an office in which he carries on his law practice. During January the building’s boiler broke and the temperatures in Carstad’s office started to average around 63 degrees, despite urgent requests and complaints to the landlord. Finally, when he couldn’t take it any more, Carstad abandoned possession and now shares an office with a former law school buddy. The landlord called Carstad today and demanded the back rent, which Carstad hasn’t paid since he left possession. 

a. Under the traditional rules, the landlord probably cannot collect the back rent unless he took reasonable steps to mitigate damages.

b. The rent would probably have been cancelled under the implied warranty of habitability.

c. To claim a constructive eviction, Carstad would have to show that the landlord had an obligation to supply heat.

d. Under the traditional rules, obligations in leases are independent and, therefore, Carstad would have a continuing obligation to pay rent even under these circumstances.

43 Tabor had an apartment facing the rear yard of his building. Noise from a neighboring tavern was constantly wafting up late at night and disturbing Tabor’s sleep. Finally, it got so bad that Tabor moved out, ten months before the end of his lease. Tabor would have the best chance of claiming a constructive eviction if:

a. The tavern does not have a valid liquor license.

b. Tabor’s landlord patronizes the tavern and drinks beer there late at night.

c. Tabor’s landlord is also the tavern’s landlord and the tavern’s lease has a clause requiring “quiet operation.”

d. None of the above would help Tabor in claiming a constructive eviction.

44  The so-called implied warranty of habitability:

a. Is basically for the purpose of giving residential tenants a legal right to premises that are livable and/or in substantial compliance with the housing code.

b. Primarily concerns the doctrine of independence of covenants in leases.

c. Both of the above.

d. Is a violation of the conveyance theory of leasing.

45 Porter lives in a leased apartment that the landlord has allowed to go into serious disrepair. Last month Porter offered to pay 75% of the rent but the landlord refused to accept the reduced payment and told Porter he’d better pay up or be evicted. The local court applies the modern doctrines on warranties of habitability and dependence of lease covenants:

a. Porter cannot be evicted, but he will have to pay the full agreed rent as it accrues.

b. Porter can remain in possession and still probably be excused from paying any rent for the remaining duration of the lease.

c. Porter would probably not be totally excused from paying rent, though the court may order a partial reduction of rent until the landlord puts the premises into proper repair.

d. In the event that Porter abandons possession, the landlord can hold the premises empty and require Porter to pay the full agreed rent as it comes due.

46 On April 7, Larson entered into possession of an apartment with a month-to-month tenancy. His landlord now needs the apartment for her daughter, who is unexpectedly coming home from college for good. From today’s date, (May 11), the earliest date as of which the landlord can terminate Larson’s tenancy would be:

a. June 7.

b. June 11.

c. June 30.  

d. July 7.

47 Hannah Horvath entered into possession of an apartment under a typical two-year written lease. During the time that Horvath possesses the apartment, she would have an obligation to pay rent:

a. Under privity of estate based on the reservation of rent.

b. Under privity of contract based on the reservation of rent.

c. Under privity of estate based on her promise to pay rent.

d. All of the above.

48 Melman leased an apartment under a 28-month written lease, entering into possession on April 1. After one month, he received an offer of a really good job in another town. His friend Jimbo was willing to take over the apartment, and they worked out a deal using a document called a “sublease.”

a. If Melman transfers possession to Jimbo for the entire remaining term of his lease, the result would be a sublease.

b. If Melman transfers possession to Jimbo for the entire remaining term of his lease, the result would be an assignment.

c. If Melman transfers possession to Jimbo for the remaining term of his lease except for the last week, the result would be an assignment.

d. If Melman subleases to Jimbo, then the landlord and Jimbo will be in privity of estate.

49 If Melman assigns his lease to Jimbo but Jimbo does not assume the lease, then:

a. Jimbo will be liable for rent in privity of estate.

b. Jimbo will be liable for rent in privity of contract.

c. Jimbo will be liable for rent in both privity of estate and privity of contract.

d. None of the above.

50 If Melman assigns his lease to Jimbo and Jimbo does assume the lease, then:

a. Melman will be liable for rent in privity of estate.

b. Melman will be liable for rent in privity of contract.

c. Melman will be liable for rent in both privity of estate and privity of contract.

d. None of the above.

51 Suppose Melman assigns his lease to Jimbo and Jimbo does assume the lease. Then Jimbo assigns the lease to Harding, who does not assume the lease. Later, Harding unjustifiably abandons the premises after two months. Under the rule applied in most states (pick the best answer):

a. The landlord would have two people from whom he could collect the rent, Melman and Jimbo 

b. The landlord would have three people from whom he could collect the rent, Melman, Jimbo and Harding. 

c. The landlord would have only one person from whom he could collect the rent, namely, Jimbo 

d. The landlord would be out of luck, with nobody from whom he could collect the rent. 

52 Suppose that, instead of getting Jimbo to take over his apartment, Melman simply abandons possession, with most of the lease term still to go. Under the traditional rules:

a. The landlord would have a duty to mitigate damages.

b. The landlord would be required to take reasonable steps to find a substitute tenant.

c. Both of the above.

d. The landlord could hold the apartment empty and require Melman to pay the full agreed rent as it comes due.

53 Suppose that, instead of getting Jimbo to take over his apartment, Melman offers the apartment back to the landlord, with 13 months still to go on the term of years:

a. The landlord could refuse to accept the proffered surrender.

b. The landlord could take back possession and relet the apartment to somebody else while refusing to accept the proffered surrender.

c.  The landlord could take back the keys (if Melman offers them) but that would constitute acceptance of the proffered surrender.

d. All of the above.

54 Suppose Melman’s lease contained a prohibition on subletting. Under the traditional rules such a prohibition:

a. Would normally be interpreted to prohibit assignment as well.

b. Would not allow the landlord to withhold consent with or without a good reason.

c. Would be strictly construed because courts view restraints on alienation with disfavor.

d. Would be implied in the lease even if it were not expressly stated.

55 O conveyed Blackacre “to A and B and their heirs.” 

a. Under the historically traditional rule A and B would have a joint tenancy.

b. Under the modern rule A and B would have a tenancy in common.

c. Both of the above.

d. Under both the historical and modern rules, A and B would have a tenancy in common.

56 O conveyed Greenacre “to A, B and C and their heirs as joint tenants with right of survivorship.” 

a. If B dies, A and C would each have an undivided one-half interest as tenants in common. 

b. If B dies, A and C would each have an undivided one-half interest as joint tenants. 

c. If C dies, A and B would each have an undivided one-third interest as tenants in common with C’s heirs

d. If C dies, A and B would each have an undivided one-third interest as joint tenants with C’s heirs

57 Willard conveyed Blueacre to Mentor and Turnbull as tenants in common. Mentor was living far away at the time, so Turnbull went into sole occupancy of the property. Now, Mentor has came back to town and he wants to collect “back rent” from Turnbull based on the latter’s sole occupancy. Under the majority rule:

. 

a. Turnbull would not be liable to Mentor for rent.

b. Turnbull would be liable to Mentor for rent, but only equal to one-half of the fair rental value.

c. Turnbull would be liable to Mentor for rent equal to the full fair rental value since Turnbull was occupying the whole premises by himself.

d. Turnbull could not be held liable to Mentor for rent unless Turnbull had ousted Mentor.

58 Assume in the preceding question that more than 10 years elapsed before Mentor came back. 

a. If Turnbull had been in continuous sole possession for 10 years, he would have acquired a sole title by adverse possession.

b. Turnbull could not have acquired a sole title by adverse possession against Mentor because there is no way that a co-tenant can have an ejectment action against another co-tenant.

c. By merely taking sole occupancy of the premises by himself, Turnbull’s acts would have started the statute of limitations running against Mentor. 

d. The statute of limitations would have started running against Mentor if Turnbull had done something that would constitute an “ouster” of Mentor.

59 Last year, O conveyed Brownacre “to A, B and C and their heirs.” The three grantees were unrelated persons who were acquiring the land for investment.  

a. If B dies, A and C would each have an undivided one-half interest as tenants in common. 

b. If B dies, A and C would each have an undivided one-half interest as joint tenants. 

c. If C dies, A and B would each have an undivided one-third interest as tenants in common with C’s heirs

d. If C dies, A and B would each have an undivided one-third interest as joint tenants with C’s heirs

60 Shortly after Karl and Karen were married, a house and lot were conveyed “to Karl and Karen Cantwell, husband and wife, and their heirs.” Later, Karl was involved in an automobile accident with Jackson, and he is liable to Jackson in tort.

a. The house and lot would not be legally available to satisfy a judgment in favor of Jackson in any state that recognizes the tenancy by the entirety.

b. Neither Karl nor Karen could validly convey his or her separate interest the house and lot in any state that recognizes the tenancy by the entirety.

c. Both of the above.

d. In some states that recognize the tenancy by the entirety, the house and lot would not be legally available to satisfy a judgment in favor of Jackson.

61 O conveyed a joint tenancy in Greenacre to A, B and C. Later, C conveyed her interest to B.   If B then dies:

a. A would be the sole owner of Greenacre 

b. A and C’s heirs would each have an undivided one-half interest in Greenacre. 

c. A and B’s heirs would each have an undivided one-half interest in Greenacre. 

d. A would have an undivided two-thirds interest and B’s heirs would have an undivided one-third interest in Greenacre. 

62 Feldspar bought a lot that was carved out of a parcel of land owned by Gates. The lot that Feldspar bought was served by an existing driveway which, for a short distance, ran across some of the land that Gates retained. In order to save money, Feldspar had requested that the deed from Gates provide him with a personal right to use the existing driveway “as long as he owned” the lot that he was buying. Gates agreed, and the deed so provided. Feldspar’s right to use the segment of driveway on Gates’ retained land:

a. Must be regarded as a license.

b. Must be regarded as an easement.

c. Should not be regarded as either an easement or a license.

d. Is probably best regarded as an easement in gross.

63 In the preceding question, Feldspar’s right to the use the segment of driveway on Gates’ retained land:

a. Would be revocable immediately after its creation if it were deemed to be a license.

b. Would be revocable if it were deemed to be a license, but only after a reasonable period of time.

c. Would be revocable whether it were deemed to be a license or an easement.

d. Would be revocable if it were considered to be an easement in gross, but not if it were considered to be an easement appurtenant.

64 Raymond Ruth conveyed the roadfront part his rural property to Simmons. The deed did not mention any easements, though there was a visible dirt lane that ran back from the road to the portion of the property retained by Ruth. Now there is a dispute over the use by Ruth’s of the lane over the land conveyed to Simmons. If Ruth is to have an easement by implication based on prior use:

a. Ruth would be required, in some jurisdictions, to show strict necessity.

b. Ruth would have to show a use of the lane as a quasi-easement prior to the severance.

c. It would be an easement by implied reservation.

d. All of the above. 

65 Jeffers accidentally built his driveway so it overlapped about 2 feet onto the land of his neighbor, Milton. When Milton realized the error, he offered to “fix it so Jeffers wouldn’t have to dig up” the encroaching part of the driveway. Shortly thereafter Milton delivered a deed to Jeffers but it is disputed whether the deed was meant to convey an easement or a fee simple. At any rate, several years later, Jeffers sold his home to Solms, who built a new driveway at a different location. In the process, Solms dug up all the old pavement and returned the area to lawn. Milton now wants to know whether Solms can rebuild the driveway at the original location. The answer is most likely to be:

a. Yes, if Milton’s deed to Jeffers conveyed an easement over the area under the driveway overlap.

b. Yes, if Milton’s deed to Jeffers conveyed a fee simple in the area under the driveway overlap.

c. Both of the above (the driveway could probably be rebuilt either way—easement or fee simple). 

d. None of the above. Once removed, the encroaching portion of the driveway cannot be rebuilt.

66 Assume in the preceding question that Jeffers intentionally built the driveway with the 2-foot overlap on Milton’s property after Milton specifically said to Jeffers that it would be “all right” to do so. After completing the driveway Jeffers would have had a good case for claiming a permanent right to keep the driveway:

a. On a theory of executed parole license.

b. On a theory of easement by estoppel.

c. Both of the above.

d. On a theory of easement by prescription.

e. All of the above.

67 Keller owned land on both sides of the Rushing River. He sold Orin the land on the south side of the river. Although Orin’s parcel had no direct road access, Orin could get to and from the highway by driving his jeep along the publicly-owned riverbank, which had a rather wide beach.  During the spring rains, however, the river shifted course. The wide beach on the south side has been replaced by a steep bluff, which is non-drivable. The only way that Orin can now get access to his property is across the land of his neighbor, Frost, but Frost refuses to allow it. On these facts:

a. A court would probably recognize that Orin has an easement by necessity to cross Frost’s land.

b. A court may recognize that Orin has an easement in invitum to cross Frost’s land.

c. Both of the above.

d. As far as cost is concerned, it would not make much difference whether Orin receives an easement by necessity or in invitum, since either way he would have to pay Frost for the easement.

e. All of the above.

68  Riordan had a guesthouse on the back of his property. He allowed his daughter and her family to live there. The only means of ingress and egress for the guesthouse was by a driveway that ran from the street to the back of Riordan’s property. Shortly before his death, Riordan executed a deed conveying “the back 40 feet” of his property (an area that encompassed the guesthouse) to his daughter. The deed made no mention of any easements. As a result, Riordan’s daughter probably has an irrevocable right to use the driveway for access:

a. And the official name of her irrevocable right would be a “quasi-easement.”

b. By implied grant.

c. By implied reservation.

d. None of the above. She could have no such right if the deed mentioned none.

69 Assume in the preceding question that Riordan’s daughter reached a deal with Riordan’s estate under which she now has an express easement for ingress and egress over the driveway. Recently she heard that the neighbor behind her needs money and she wants to make an offer to buy some of the neighbor’s back yard, which she  would add on to her own. The effect would be to expand the size of her lot by 30%. If she does make the purchase:

a. There should be no legal problem with her using the easement to access the 30% addition to her lot.

b. Using the easement to access the 30% addition to her lot would constitute an unlawful misuse or overuse of her easement.

c. Because the easement is express, she can use it for any reasonable purpose, including access to the 30% addition.

d. Because the easement is express, she is prohibited from adding to or subdividing the property that was served by the easement at the time it was created.

70 There is a 12’ wide expressly-created easement of way that runs across land belonging to Warren. The 12’ area is currently paved as a long driveway. Warren’s neighbor owns the easement and uses the driveway for ingress and egress to and from his home. Within the 12’ area where the easement lies:

a. Warren is allowed to use the driveway to travel from place to place on his own property.

b. Warren is allowed to make any uses he wants so long as he does not unreasonably interfere with the easement.

c. Both of the above. 

d. Warren is not allowed to make any use of the land.

71 Suppose Warren’s neighbor wants to build a large addition to his house. Warren discovers that the addition would violate the terms of a covenant contained in a deed by which Potter conveyed what is now the neighbor’s lot to Irwin 60 years ago. (At the time, Potter retained what is now Warren’s lot, which he later sold to Young, who in turn sold it to Warren.) 

a. Assuming the deeds from Potter were duly recorded, the neighbor could probably be held to the covenant as an equitable servitude.

b. Assuming there was no adverse possession of any of the land in question, it looks like there is “horizontal privity,” which is widely required to make a covenant run with the land as a real covenant.

c. Both of the above.

d. There is no apparent likelihood or legal way for this 60 year-old covenant to be dredged up and enforced against the neighbor.

Do this section ONLY if you don’t have a “word” for successful completion of the Estate System Proficiency Test:

In answering the following TRUE/FALSE questions, assume (unless otherwise specified) that, at the times of conveyance, O is an owner in fee simple absolute, and that every named party is alive and unmarried. Remember that the conveyances are to be interpreted as set forth in the last two paragraphs on the instruction page. Assume that all life estates end at the death of the named life tenant. When you see words appropriate for a defeasible fee simple, assume that the words of conveyance also include whatever additional words (such as words of reverter or re-entry) that may be required by law in order to create the defeasible estate.

72 O conveyed  “to A for life, then to B and her heirs.” B has a remainder.

73 O conveyed  “to A for life, then to B and her heirs.” B’s heirs have an executory interest.

74 O conveyed  “to A for life, then to A’s heirs.” A’s heirs have a contingent remainder.

75 O conveyed  “to A for life, then to B and her heirs if B becomes a ballerina.” O has a reversion.

76 O conveyed “to A for life and then, one month after A’s death, to B and her heirs.” B has a remainder.

77 O conveyed “to A and her heirs so long as the land is used as a farm, then to B and her heirs.” B has a possibility of reverter.

78 O conveyed “to A and his heirs.” The heirs of A receive a contingent remainder under this conveyance.  

79 O conveyed “to A and his heirs.” The heirs of A receive nothing under this conveyance.  

80 O conveyed “to A for life, then to B and her heirs if B attends A’s funeral.” B has a contingent remainder.

81 O conveyed  “to A for life, then to B and her heirs.” O has nothing.

82 O conveyed “to A for two years, then to B and her heirs.” B may be properly said to have a vested remainder.

83 O conveyed “to A for two years, then to B and her heirs if B becomes a ballerina.” B may be properly said to have a contingent remainder.

84 O conveyed “to A for life, then to B and her heirs if B becomes a ballerina after the death of A.” B may be properly said to have an executory interest.

85 O conveyed “to A for two years, then to B and her heirs if B becomes a ballerina before the end of the two-year term.” B may be properly said to have a contingent remainder.

86 O conveyed “to A for life.” O is much older then A. The conveyance results in a possibility of reverter.

87 O conveyed “to A for life, then to B and her heirs, but if C survives A, then to C and her heirs.” B has a future interest that is vested subject to divestment. 

88 O conveyed “to A for life, then to B and her heirs if B marries C.”  B has a contingent remainder (at least).

89 O conveyed “to A and his heirs beginning after the time of my death.” The conveyance creates an executory interest. 

90 O conveyed “to A for life, then to B for life, and then six days after B’s death, to C and her heirs.” B has a remainder.

91 O conveyed “to A and his heirs as long as Yellowstone remains a national park.” O has a possibility of reverter.

92 O conveyed “to A for life, then to B and her heirs if B survives A by at least one year.” B has an executory interest.

93 O conveyed “to A for life, then to B and her heirs if B does not survive A.”  B has a contingent remainder.

94 O conveyed “to A for life, then to B and her heirs if B marries C.” O has a reversion.

95 O conveyed “to A for life, then to B and her heirs if B marries C.”  B has (at least) an executory interest. 

96 O conveyed “to A and his heirs until Yellowstone ceases to be a national park.” O has a right of re-entry.

97 O conveyed “to A and the heirs of his body.” In states that still recognize the fee tail, this estate would not be inherited if, at A’s death, his sole heirs were one brother and one cousin.

98 O conveyed “to A and his heirs as long as the house be kept painted white with green shutters.” A has a fee simple determinable.

99 O conveyed “to A and his heirs on the condition that the premises be kept as a nature preserve and open to the public.” O has a right of re-entry. 

100 O conveyed “to A for life, then to B and her heirs if B survives A by at least one year.” O has a reversion.

101 O conveyed “to A for life, then to B and her heirs, but if C survives A by at least one year, then to C and her heirs.” C has a future interest that is vested subject to divestment. 

102 O conveyed “to A for life, then to B and her heirs if B marries C after the death of A.” B has an executory interest. 

103 O conveyed “to A for life, and then to the heirs of B.” B is living but childless. This conveyance creates a contingent remainder.

104 O conveyed “to A for life, and then to the heirs of B” (a person recently deceased). This conveyance creates a vested remainder.

105 O conveyed “to A for life, and then one day after A’s death to the children of B.” B is living but childless. This conveyance creates a contingent remainder.

106 O conveyed “to A for 5 years, then to the heirs of B” (a living person). This conveyance creates a remainder.

107 O conveyed “to A for 5 years, then to the heirs of B” (a living person). This conveyance creates an executory interest.

108 O conveyed “to A for life, then to B and her heirs, but if C survives A by at least one year, then to C and her heirs.” B has a future interest that is vested subject to divestment. 

109 O conveyed “to A as long as he desires to remain living on the land.” The more modern tendency is to interpret this conveyance as creating tenancy at will, rather than a determinable life estate.

<end of examination>
